MINICOMB®

RKERE IR 3030




O PIMERE e

MINICOMB® J% /7%

ToEEE. P& R4t

i A S

LTS HK AR e v

EJJ9ER -0.9... 0 (+1) bar B 0.2 - 16 bar
TEER 1/4 “ 1S0 228 R4 ek i E s

HL A% HE IS0 440048 kBB M1 2x 14 Sk

Eiiipu
MINICOMB® ZRA & — @R BB N & TR, AT E &
G Ss AROR G5 A R AR el A A

TAE R B
will TAEJR BN J~F 4 . B EUE W AE F 038 T 8 79 i) 89 25 41
MINICOMB , i 4 P

[ TAF R A 30, R EEias— Msh Tk
2R R G TAEANE AR AT i ZE s i, DR 58 4 T
#, LA G B B IE R RTR

MINICOMB, 1/4* SO 228 NIRZUi%EH

www.pinter-gmbh.com



E s W/ G S
-0,9 = 0 bar

ShFERTRL

FCVF I BT

T
E
X
TXARE IR e

e . $fi3k EN175 301-803-A (ISO 4400) ;
By 4P S5 4% 1P65 (TP67 , fHF#EL M12x1H])

PR (XYZ-J7 1A) 10 g (60 — 500 Hz) (IEC 60068-2-6)

www.pinter-gmbh.com



O PRMERE e

R (fEFHESL 1SO 4400 il A)

MINTCOMB
JERAMRCERE, ik 1SO 4400

QIlIP M16x1,5 :
S f | $isk-ri i M3X35 i
i RN cli
— =0,4 +0,1Nm po.
P = D7D
o 2 Q/ . 0—1\\ 2
f S—: & \\r/ ]
| ? L 3 1 @ ? @
. - - T o
= SE b | A
1eeed g )i 5 o
= I !
1 o 1 ]
20 102 TR 1';;0'1 405
ORI - ORI 5 s
30 0, T3 AR A M5x35
25x15 = 0031992 ) DiNga
435 i
7] 80 Mp= 2,5 +0.5 Nm
MINICOMB
JEAGZERECNOMO , Ffisk 1SO 4400
M16x1,5 (r7h
S~ 1 Il
_.| @19 Jfisk- 02 M3x35 |
] FE
=04 01t ® 7@
. |
| e & 03
2 g ¥ | DT P
< T
o | s | g
S W & [R=z==rs by | 4 @
o . ik |
I 4405 I 1
20 0.2
3003 30 103 9+'0x
43,5 Sk 412 M5x35
2 80 (2x) DIN84
A
Ma= 2,5 +05 Nm
MINICOMB

1/4 “ 1SO 228 WIBELUEH:, sk 1SO 4400

q:m:w M16x1,5 f
T \ }
_| @19 1 k- L M3X35
[] B
Ma=0,4 +0,1Nm by
/ f
NE \(

@

&
D d

@

K

| ©
& |

73 0,3
%) 81

4405

|
| | p——
© o\ I e a’j:_ .
& N7 Q —
= ! g
| ' y

T P
20 10,2 1/4" 1S0 228 PIRLER: Ra 2,4 ym 2133
RIEQ+1 \ 90°
30103

5,4 +02
45

1

A

30 :03 PRI
Mp=12+1Nm

43,5

%) 80

www.pinter-gmbh.com




DN ZNTER [

ARG (fd S M12XT A RRAS)

MINICOMB
MRS, fhkM12x1

SO
‘Q‘f’ SERLE 1-4
4% |

|/

1
I
A-Gi%

i

z

_M12x1

35,4 +0.2

12 x,1
68 +03
@N\%E@,
& 1T

. . 7
E : G
4 b ot =r=zam s
3 \%éy i ﬁ i 5 | H— A §9|€§
20| I ERE 4405 I I
0RE £02 R B va  EAEL A M5x35
O 5x 16 |—30208 3003|908 (o) DINg4
435 P
2 59 Ma=2,5+05Nm
MINICOMB

JEBGESZECNOMO , 46=kM12x1

N©)]
1 1 /%
| &‘5;// ®.4 .
[] S N >>, SERPLE 1-4
//
I : :
© 3 | w Iy L RS0 I e
oo | A K2 ek, 1530°
« Q- 4 =53 | B e |
8 1
' 4 +05 ' !
20 :02 3k M5x35
3003 30 103 9’02 (2x)DIN84
PR
435 Ma= 2,5 +05 Nm
4 59
MINICOMB
1/4 “ IS0 228 NIRZUEHE, fdiskM12x1
7
543
I } ;tfl, /;93@
l JARY et 1-a

)

w—

Sk A AT 90°
ek, 30°

P
7
% «
At @ |
|

54 +0.2

12x
73 103
-

=l

—] 4 +05
s 4 i g 3
i =i
20 102 1/4" 1SO 228 HIRALES: | Ra24ym 2133
30 10 RO Ny 90°
30 203 Ma= 12+1Nm
43,5
%) 59

A-Zilith
i 5
| )
i
]
l
|

P
A

1503

www.pinter-gmbh.com




O PIMERE e T

IR €
KB AC-12 / DC-12

FE R MG
e KEFEE T max [A] , HLEAAER EURNERIIZMET
U [V] 30V 48V 60V 125V | 250V j’ﬂ%% 1ISO 4400 Tﬁy_\‘ M12
N
I [AJAC - - - - 3E<>ﬂ®
7
I[A]DC
1504400 M12

JFRFFE

ORFFELHE T max [A], HLPHSA3L

U [v] 30V 48V 60V | 125V | 250V

I [AJAC

|[A]DC

www.pinter-gmbh.com



DN ZNTER

T BARRY
R ik
k71

NN E

JRAR C0011F-300-PAO
1/4 “ IS0 228 PIIRLL C0051F-300-4A0
JEAR C0011F-300-PDO
1/4 “ IS0 228 PYIRLL C0051F-300-4DO

ISO 4400

www.pinter-gmbh.com



PINTER Mess- und Regeltechnik GmbH
Kraichgaublick 17

Technologiepark Neckartal-Odenwald
74847 Obrigheim, Germany

Phone +49-6262-92670-0
Fax +49-6262-92670-99
E-Mail info@pinter-gmbh.de

Internet www.pinter-gmbh.com



